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QUESTION 1

You are inviting a new administrator into a Mist organization. In this scenario, which two roles are valid? (Choose two.) 

A. Advanced 

B. Observer 

C. Installer 

D. Custom 

Correct Answer: AB 

Reference: https://www.mist.com/documentation/administrator-roles/ 

 

QUESTION 2

What are two prerequisites for adopting Juniper switches for Wired Assurance? (Choose two.) 

A. a claim code 

B. a Wired Assurance license 

C. an activation code 

D. an account on manage.mist.com 

Correct Answer: BC 

Reference: https://www.juniper.net/us/en/products/cloud-services/wired-assurance.html 

 

QUESTION 3

In a production network, what are two types of security threats? (Choose two.) 

A. rogue AP 

B. honeypot AP 

C. scanning radio 

D. neighbor AP 

Correct Answer: AC 

 

QUESTION 4

A Mist mesh network supports up to how many hops? 
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A. 1 hop 

B. 2 hops 

C. 3 hops 

D. 4 hops 

Correct Answer: D 

 

QUESTION 5

Which Mist AI feature would help you to troubleshoot a client\\'s failed authentication? 

A. client dashboard 

B. live view 

C. dynamic packet capture 

D. WLAN profile 

Correct Answer: C 

 

QUESTION 6

What is an 802.11 management frame transmitted by an AP? 

A. echo request 

B. ping 

C. keepalive 

D. beacon 

Correct Answer: D 

Reference: https://howiwifi.com/2020/07/13/802-11-frame-types-and-formats 

 

QUESTION 7

Which statement defines the total user minutes? 

A. The total number of minutes for which Mist has statistics for each client. 

B. The total number of minutes between a client\\'s last association and disassociation. 

C. The total amount of device uptime over the last seven days. 

D. The average number of minutes that all clients have been associated to the network. 
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Correct Answer: B 

 

QUESTION 8

Which Mist supported API is considered data-driven? 

A. RESTful 

B. Webhook 

C. WebSocket 

D. gRPC 

Correct Answer: D 

 

QUESTION 9

How should APs be deployed for location-based services (LBS)? 

A. with the LED facing the floor 

B. with the LED facing the ceiling 

C. with the LED facing a wall 

D. with the AP mounted on a wall 

Correct Answer: D 

 

QUESTION 10

When would be the earliest opportunity to configure an access point (AP)? 

A. after you are on the same network as the AP 

B. after the AP is installed 

C. after the AP is online 

D. after the AP is claimed to inventory 

Correct Answer: B 

Reference: https://www.juniper.net/us/en/products/access-points.html 

 

QUESTION 11

Which two statements are correct about microservices? (Choose two.) 
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A. A microservice can be added without system downtime. 

B. All microservices can be updated at the same time without downtime. 

C. A microservice can be updated without system downtime. 

D. Each microservice uses the same virtual hardware. 

Correct Answer: AC 

 

QUESTION 12

Which administrator role must you have to view audit logs? 

A. Installer 

B. Network Admin 

C. Super User 

D. Observer 

Correct Answer: D 

 

QUESTION 13

Which statement is correct about Bluetooth and BLE? 

A. BLE is an upgrade to Bluetooth. 

B. Bluetooth and BLE use the same radio channels. 

C. Bluetooth and BLE are compatible. 

D. BLE is a newer technology than Bluetooth. 

Correct Answer: D 

Reference: https://www.link-labs.com/blog/bluetooth-vs-bluetooth-low-energy 

 

QUESTION 14

What happens when Mist subscriptions expire? 

A. Devices retain their configurations but the Mist user is prevented from accessing the Mist management GUI. 

B. Devices retain their configurations and all Mist management GUI functionality remains available to the user. 

C. Devices retain their configurations but Mist management GUI functionality related to expired subscriptions are not
configurable by the user. 
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D. Devices retain their configurations for 90 days; if the subscriptions are not renewed, the configuration is deleted and
the devices are reset to factory default. 

Correct Answer: C 

Reference: https://www.mist.com/documentation/subscriptions-and-
activations/#:~:text=After%20subscriptions%20are%20expired%2C%20the,be%20active%20within%2090%20days 

 

QUESTION 15

Which machine learning method involves rewarding and punishing an agent? 

A. unsupervised learning 

B. supervised learning 

C. deep learning 

D. reinforcement learning 

Correct Answer: D 
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